2020 U & 4Xt=3

(9l - &)
A ol ) =(A) H =3 ol £(B)
H & o 5 Off &k OH H 2 o =2 Off &F K
R Rl Al 66,944,133|S € HIE A 55,549,641
INE=J=el 63,914,497 =2 FH 2=l 257,144
2B A 2,713,474 3=l 41,056,495
JIEtg 4o 316,162 B S <=8 5,434,002
1940l H 11,892,012 =. =3 At 2,713,474
0| Xt 20! 265,800 o grerel 3,133,339
S I PSR =Rl 11,294,888 A=A =Zot2el 2,955,187
SEHZ01 o|lggeldl s Al 584,860
2|3t EHA| Y 0 UNE=1UPNg= "t b= DA(:] 584,860
SXIHH 201 0 EMH2EA 0
JIEtZ 2l 4ol 331,324 Rt Rt 0
swi0| ol A 0 QstEatEA 0
M| AF |l 0 SN HEEA 0
HEEH OIS 0 JIEtS &2 S 0
JIEtSE01 oS4 Al 0
QA=A 0
dolEd=HEL 0
JIEtSg & 0
ol Al 0
oilgl gl 0
& A 78,836,145 g Al 56,134,501
X 4 (A-B) 22,701,644




